Neighbour xtalk correction

+  Just implemented by Zach in CalXtalResponse vOri4pl
+  Tested with 700001796
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Position measurement problem

Cal position - tkr extrapolated position for logs along the trajectory and -/+ 1
Versus the energy. BEFORE xtalk correction :

LOC5 37 Me

LOCE 507 MaV

€5 121 MeV

C7 132 MeV

T

406 %04 G009 1000 TIh0 Tah0 1860 6T ELT] LT T e B I N [ L T -

Shiksosnedh| gk

-2 35 i

L 1T 1T T - L L

C6 8941 MeV

o] ahik:

TS TIETTY |

EIYTEREYTT

(T T T T T L T TR LT R
CE_7266 MeV

LI b ST L T T R T T 1]

Mar. 21, 2007 Beamtest meeting

T T [T TV L. 3.5V 1 1T 171 Ry T ELLT L1171



Position measurement problem

Cal position - tkr extrapolated position for logs along the trajectory and -/+ 1
Versus the energy. AFTER xtalk correction :
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Position measurement

+ Fit the profile histogram with polO
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Position measurement

+ It is offset by ~10mm
* Tracker/cal alignment or cal calibration problem ?

‘ with xtalk correction ‘
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Position measurement

OCE 187 Maw

Run 700001820
(everything apart
last xtalk
correction)
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Position measurement

SCT T30 MeV
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